A

QUESTION BOOKLET

T¥-gReeH Sr. No.
Series
Roll No. (in Figures) TeT 7. (37 ) :
Roll No. (in Words) U1 5. (F131 H)
g 290 Bt giet aferdam 3tk ;85

Time : 2 Hours

Screening Test

Maximum Marks : 85

PLEASE READ THIS PAGE CAREFULLY.

Note: Candidate should remove the sticker seal and

open this Booklet ONLY after announcement by

centre superintendent and should thereafter check and
ensure that this Booklet contains all the 24 pages and
tally with the same Code No. given at top of first page

& the bottom of each & every page. If you find any

defect, variation, torn or unprinted page, please have it

replaced at once before you start answering.

IMPORTANT INSTRUCTIONS :

1. The Answer sheet of a candidate who does not
write his Roll No., or writes an incorrect Roll No.
on the title page of the Booklet and in the space
provided on the Answer sheet will neither be
evaluated nor his result declared.

2. The paper contains 170 questions.

3. Attempt all questions as there will be no Negative
Marking.

4. The questions are of objective type. Here is an
example. Question : 8 Taj Mahal was built by
(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan
The correct answer of this question is Shah Jahan.
You will therefore darken the circle with ink pen
below column (D) as shown below :

A B C D
Q.8

OOO0OCe

5. Each question has only one correct answer. If you
give more than one answer, it will be considered
wrong and it will not be evaluated. Changing,
cutting, overwriting and erasing of an answer
will be treated as wrong answer.

6. The space for rough work wherever provided may
be utilized by the candidate. You are not to use any
portion of the Answer Sheet for rough work.

7. Do not mutilate this booklet in any manner. Serious
damage/mutilation may entail disqualification.

8. Do not leave your seat until the Answer Sheets have
been collected at the close of the examination.

9. Candidate will not leave the examination room till
stipulated time is over and only after he has
handed over the Answer Sheet to the staff on

FUAT 3H IS & ATIEE ¢ |

AN : TN heeT b HATeIsh FRT =60 U & WY Tiet

72T Y T FETehT i Tiet 1Y S &Y o 3R GiAreed e of

T 3o 24 U € 31X it et & e 53 T3 e TR et

TS R T S 53 T8 e TR & e of | afg g Jewd

T W I W Tee T 38 T/ of |

Wﬂ;ﬁﬁ%ﬂ:

1. ST el 31O e o T U Ue ST e § Hfse
T UX 39T IS . T&T [T a1 Tetd ferd T S9! 3T
QRETshT i F T ST Bt ST 311X 7 &Y ShT UietT g
Hifere femar ST |

2. T qEH A 170 9§ |

T U &l Y T ThRIcH 3iehT Tl &N |

4. v 3T TWhH ¢ | 3T & AR W
T ; § TATST Heel S 0T J T AT |
(A) TRME (B) =E
(C) 3The (D) SM&sTet
T U9 T el 3T & IMEsTel | Tqierd 319 3T YRqel &
HICTH (D) % e U9 8 % e+ {52 T3 Wiett g i e

w

et U | P R 3, i T i g g
A B C D
Q8 O O O @

5. U U9 1 heel Uh el ST T | IS 319 Ush F 31fereh
SR W, Al Tg TTold TH ST 3T SHehl Goaish Tel
foparT ST |
(F&eH, T, TERT foae a1 fem 9 S &t o
AT SART)

6. STeT FEl o STTE 31 TS & 36 & I B h o7 WA AL |
MU 3T IRARN & Tl off 91T 1 T % & ot
TN & HATE |

7. fordt off T | qRersht ol T T HY | TR T F T/
TS YRR o SHROT STTUEhT STAT e kel ST e € |

8. 3T TIH & q9 Th 7 DS ST9 T STR-YIETHT I W&
AT B T 3T Tel Y fordl S |

9. WA T Toh URIET Eict 81 SIS AT S16 81 ST e
T o TRIRT A TEI e &1 S 7R 9 ST 3T-
qfeTehT TRIET H T T R TR S ST |

duty.

Code No. : C_SOS /2018/Series-A

https://www.freshersnow.com/previous-year-question-papers/



Space For Rough Work / Fed B F [T ==

Code No. : C-508/2018/Series-A 2

https://www.freshersnow.com/previous-year-question-papers/



QUESTION BOOKLET

This question paper contains 170 questions. /$F I T H 170 TH & |
All questions are compulsory. / Tt I3 31f4ard & |
One question carries half mark only. / T I4 o ToTU Shaet 3TTe 376 2 |

Maximum Marks : 85 AfHan 37 : 85
Time : 2 Hours Uy : 2 "o
1.  Breast feeding should be start within how many hours after a normal delivery ?

(A) Within 2 an hour (B) Within 4 hours

(C) Within 2 hours (D) Within 24 hours

et fefeterdt <6 foha TIvel § TAUH S[® M1 AT ?

(A) LERH (B) 4=vaid (C) 29w (D) 2490 A

Route of administration of vitamin K injection in a new born, is

(A) Subcutaneous (B) Intra muscular

(C) Intra dermal (D) Intravenous

Teh et ) <l forerfir K o1 gotere fobg w11 & e Stran @ 2

(A) JIgEEEE (B) AM-TMT (C) ATR-==™ (D) 3=a:Frw

What is the normal temperature of a term healthy baby ?

ek T fafer ey aretes | 9= aaHE = g 7

(A) 36-37°C (B) 36.5-37.5°C(C)37.5-38.5°C(D)38°C

Normal average length of the term healthy new born, is

T T fofer wae Fasma ] § 9 3ied oTs 91 8t § ¢

(A) 40 cm (B) 50cm (C) 60cm (D) 65cm

Joints between two cranial bones are known as

(A) Fontanels (B) Bregma (C) Sutures (D) Skull joints

T HUCH AR 6 I I SIS HEATT & .

(A) ®iie®  (B) s (C) &= (D) & a5

Uterus become pelvis organ after

(A) 18-20days (B) 16-18days (C) 12-14days (D) 10-12 days
ERrCIGH ST ST o ST B ?

(A) 1820fi  (B) 16-18fi (C) 12-14fei (D) 10-12 feqi

The diameter of cervical canal after the complete dilatation is

ot ferehIuT % q=rTq e Aeft 61 Sy 8

(A) 12cm (B) 10cm (C) 8cm (D) 6 cm

A nurse is clamping umbilical cord and the nurse know that the distance from

the umbilicus is

Teh 4 1% T 1 el 2 ST T g et B b nfyr & swehr g B

(A) 2.5cm (B) 5cm (C) 7cm (D) 5.5cm
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9.  Maximum score of Apgar scoring is

T ThITET 1 STUHAH ThK &

(A) 8 (B) 10 (C) 13 (D) 23
10. Which colours identification bend is used for a girl new born ?

(A) Blue (B) Pink (C) Green (D) Red

Teh FaSTd ==t o ToTT i &7 TT U8 &€ T BT & 7

(A) Hren (B) TSt (C) = (D) <
11.  Which of the following blood group is called a universal donor ?

freferiea & @ fope TRt T 1 ATATeh ST had & 7

(A) O B) A (C) AB (D) B
12. Which gland in the human body is called the master gland ?

(A) Parotid gland (B) Pituitary gland

(C) Thyroid gland (D) Sublingual gland

e IR H i € uf=r e (areer) af sgerd @ 7

(A) A TR (B) NI (C) YRAiEe uRa (D) I@fsge ufe
13. Smallest cell of the human body is

(A) Sperm (B) Bloodcell (C) Stemcell (D) Ovum

AT IR 1 T8 BT Y 3

(A) T (B) T &I (C) ®Hu (D) 31ver]
14. Largest muscle of human body is

(A) Deltoid muscle (B) Abductor muscle

(C) Gluteus maximus (D) Peroneus longus

HE YRR i T 5t usft 7

(A) Scaigs ush (B) Usgared Uit

(C) weffead ety (D) YUfE e
15. What is the average length of ureter ?

et S 3TEd TETE R 7

(A) 15cm (B) 18 cm (C) 25cm (D) 32cm
16. How many carpal bones are there in a hand ?

&1 3 fepat aftraryr srfREi 2t 8 7

(A) 6 (B) 8 (C) 10 (D) 5
17. Heart rate is initiated by

(A) A Vnode (B) S Anode

(C) Parkinje fibres (D) None of these

gcd ol fordeh g IR B B 7

(A) AVTE (B) SATE (C) Whidg (D) 398 8 I Tal
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18.

19.

20.

21.

22,

23.

24.

25.

26.

Largest and most complicated joints in human body is

(A) Pivot (B) Gliding (C) Shoulder (D)
TS I H 998 91 30T g1k Sfed SIS 8

(A) fuate (B) fergdur (C) &9 (D)
Which of the following is only moveable bone of skull ?

(A) Ethmoid  (B) Mandible (C) Frontal (D)

T g s & afeass &) tnaE IarmE AR g ?

(A) wgfegiir (B) t4iEq (C) wwmef®r (D)
Total no. of inter costal muscle in human body is

S IR § et STra3feh! Ui 2

(A) 11 (B) 10 ©) 9 (D)
Anaemia is caused due to deficiency of

(A) Iron (B) Vitamin B,

(C) Both (A) and (B)

ST ferEreh! st o HIUT BT & ?
(A) ©iE ,

(C) (A)@e (B)gHi

Bile is produced from

(D) None of these

(D) sqﬁwé

(A) Gall bladder (B) Livercell (C) Pancreas (D)
ot fora@ ST BT 2 7

(A) o= (B) IpaHINE (C) =™ (D)
Duration of bleeding in menstrual cycle is

(A) 1-5days (B) 1 7 days (C) 3-5days (D)
g =k H raaaul hi

(A) 1-5f (B) 1- 71“@ (C) 3-5f (D)

Exclusive breast feeding is recommended
(A) Upto 1 year (B) Upto 6 months
(C) Upto 9 months (D) Upto 3 months

eIl TAIM I 8

(A) 19ids  (B) 6HREdH (C) 9HEdHh (D)
The proper medical abbreviation for ‘before meal” is
‘I & Tget’ o foTu 3ugert Fafercashia dfera &q 8

(A) PC (B) BID (C) ac (D)

The final step in the purification of water on a large scale is

Knee

AT

Maxillae

Fedgafey

Spleen

1-3 days

1-3 fea

3 HIg db

tid

(A) Filtration  (B) Storage (C) Boiling (D) Disinfection
oS I T S YR T 7 .
(A) Treied (B) ©u® (C) W= (D) fereshmo
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27. Which of these is a cyanotic heart disease ?
T 8 S i Hret (et ged gl S 8
(A) ASD (B) VSD (C) TOF (D) PDA
28. Which of the following is a sign of previous child birth ?
(A) Rigid abdominal wall (B) Gaping introitus
(C) Round external OS (D) Ovoid uterus
freferiea & & oF qd yea & g g 7
(A) T 3edy fufa (B) AfgR # fifaa
(C) et Ter OS (D) 3T U™
29. Ideal time for tubectomy following menstruation is
(A) Ovulatory phase (B) Proliferative phase
(C) Secondary phase (D) Menstrual phase
a1 o F1¢ THEG! T HTEI 0 3
(A) TSTYeROT 3raeen (B) TheTRier 3Taeq
(C) Tgdfiaep sreman (D) 3TTda TaE
30. In which type of abortion fetus is dead and retained inside the uterus for a
variable period ?
(A) Missed abortion (B) Threatened abortion
(C) Inevitable abortion (D) Incomplete abortion
gﬁ??ﬁﬁmﬁmﬁwﬁﬁw 3TN Teh IR ehTe oh foIT TTRTI <6 37ET T@T g3t
?
(A) 3TERA THIE (B) HeheshIaia THUTA
(C) Aeml THdTa (D) 3TqUf THETa
31. The part of fetal circulation which become fossa ovalis after birth is
(A) Umbilical artery (B) Umbilical vein
(C) Foramen ovale (D) Ductus arteriosis
YT GTCE=0T T ShiH 91 T SI+H <h YT USSR @I o Sl & 7
(A) T ged (B) ATy R (C) ISR TY (D) gu-t afe
32. Which drug is contraindicated in a laboring mother with hypertension ?
(A) Prostaglandin (B) Oxytocin
(C) Methargin (D) Magnesium sulphate
SEREAETY TTOd Jgd AT <l i E vty fafvg ® v
(A) TR (B) AfdeE=  (C) Buwia (D) HHfRH Hethe
33. The third stage of labor ends with
(A) Two hours after birth of baby  (B) Birth of baby
(C) Delivery of placenta (D) Fully cervical dilatation
TEE T HE 0T Gl B 8
(A) %@%m%aﬁmﬁaﬁ (B) 131 91 = T
(C) TS & | & |1y (D) ot Ifta forehror < |y
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34.

3S.

36.

37.

38.

39.

40.

If the infectious disease can be transmitted directly from one person to another it is

(A) Susceptible host (B) Communicable disease

(C) Portal of entry (D) Portal of exit

Ife ek =afeq @@wlwdﬁamlq%ﬁﬂﬁﬁﬁwm% RICEES

(A) GIuTST ST (B) EeRUTsiiel SR

(C) et e (D) wfcert ffm

Infectious disease such as hepatitis B and C become a reservoir for pathogen in
(A) Blood (B) Urinary tract

(C) Respiratory tract (D) Reproductive tract

B 3T C &t HehTHeh SR UTSTHeh! b1 37T 4 1Al &
(A) U (B) et ®  (C) W@EAAMHA (D) YA am d

To sterilize surgical instrument and surgical dressing

(A) An autoclave is used. (B) Soap and water used.
©) Ethylene oxide gas it is used. (D) Chemlcals are used.
STCATSHAT IURTTT TR I fshat SR i fsffames w & fou

(A) Ueh aTSTeTet ferdishies T Y41 I & |

(B) HTEA 3R 9T 31 J=1 B & |

(C) 3ftefiv tfadTse 19 W Bt & |

(D) T T B 7 |

Hospital acquired infection are often related to poor hand washing and
(A) Poor urinary output (B) Poor perineal hygiene

(C) Urinary drainage bag (D) Improper catheter care
AT H B aTet SRl I T &% warer e qHaua g |
(A) =3z frfa (B) ﬁmugn%:rﬂzrw

(C) = fereht = (D) I PHHEER el

To achieve high level disinfection in 2% glutaraldehyde, soak an instrument for
(A) 30 mlnutes (B) 20 minutes (C) 15 minutes (D) One hour

2% TEICUCEIEISE H I hal oh (oRAshHUT 3hl ITe i oh foTT ITHITT Shl AT =TTET
(A) 30fiFeds (B) 20fmed® (C) 15fed® (D) wuedsh

Most important step in the clinical area waste management is

(A) Segregation (B) Transportation
(C) Storage (D) Labeling
ATk & RIS JeeH | Fad Hewqul =/ 8
(A) JU=B (B) ditergA (C) "= (D) iRt
Which of the following nutrient help in tissue repair ?
(A) Vitamin (B) Fats (C) Carbohydrate (D) Protein
3% IR A FrfaRaa o & 9 91 divehd TERr Hal g ?
(A) Toerim (B) =& (C) =EiEREgE (D) JEA
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41. Which pituitary hormone stimulates the secretion of breast milk from
mammary gland ?

(A) Prolactin (B) Vasopressin (C) LH (D) HCG
1 |1 TUggell B T TR 8 T @Y o HT bl IS Ll 8 7
NRUSERE] (B) <EIEHA (C) LH (D) HCG

42. Which is the main source of estrogen and progesterone after the 3 months of
pregnancy ?
(A) Hypothalamus (B) Pituitary gland
(C) Placenta (D) Ovary
3 T i T % FT1E SEISH 3T TSRSl o1 J&T €id R 8 7
(A) EEIYomE  (B) frmufy  (C) g (D) 3UEHA

43. Islets of Langerhans produce

(A) Bile (B) Trypsin (C) Insulin (D) Rennin
g <l GITUhTE T it & ’
(A) fo (B) g (C) zgdH (D) I

44. Anterior fontanels normally closes between the age of
(A) 2-3months (B) 12-18 months (C) 3-6 months (D) 1-9 months
AHTIGY: 3T SRy 39 3T o He ¢ BT &
(A) 2-3418 (B) 12-18"18 (C) 3-64I8 (D) 1-941E@

45. Which of the following is the combined vaccine ?
(A) Oralpolio (B) BCG (C) DPT (D) Rabies
frfoifga o @ & o1 93 1 g ?
(A) I WA (B) BCG (C) DPT (D) o=t

46. Infection of the middle ear is called
(A) Sinusitis (B) Mastoiditis (C) Otitis media (D) Labyrinthitis
e VT T ARV HEATT 3
(A) fagdid®  (B) mreseliE  (C) Addw Hifsa (D) afafeefidE
47. The process of development of matured ovum is called
(A) Ovulation (B) Euphoria (C) Oogenesis (D) Oocyte
Uiue 3TUSI] < forehtel <l TfshaT ShaetTd! &
(A) fememmm  (B) g@mm™ (C) ferasmar (D) feramueHa ifdre

48. Rods and cons are the structure of

(A) Middleear (B) Eyes (C) Ovary (D) Lungs

STeATeh! T 31 fehereh! TTe 8 7

(A) Hex i (B) 3ti@ (C) 3ERH (D) %%s
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49.

50.

51.

52.

S3.

54.

5S.

56.

Pertussis vaccine is contraindicated if the child has

(A) A history of convulsion (B) History of juvenile diabetes
(C) History of jaundice (D) History of tuberculosis
SHTctt @iet @1 2iehl Hivg 7 Ife STereh
(A) w0 i feedt aret &t | (B) creuTTaET § nemg <hi faed) aret 8 |
(C) diferan i fewdt aren &1 | (D) Fgmr < feedt e & |
Vaccine contraindicated during pregnancy is
(A) Rubella (B) OPV (C) Tetanus (D) Influenza
2 2 e A g 2 |
(A) & (B) OPV (C) | (D) TS

Which one of the following is an antioxidant ?

(A) Calcium (B) Vitammn E (C) VitaminB (D) Vitamin A
fferfiad # & % &1 U srfafwtred § ?

(A) hfcwm (B) feiftmE (C) fwafmB (D) faarfim A

Softening of cervix during pregnancy is known as

(A) Goodell sign (B) Kerning sign
(C) Chadwick sign _ (D) Hagar sign
TSR o G Hiel § g1 HaarTd! &

(A) TS fogd (B) wHnfagd  (C) <ol foeg (D) @ fured

The most serious complication of meningitis in young children is

(A) Blindness (B) Epilepsy

(C) Hydrocephalus (D) Peripheral circulatory failure
A1 Sl H ATHhI-IY i T TR Sifeeral 8

(A) Y9 (B) Towft

(C) PrSe T (D) uftefia ufeE=tor Srwetd

Extra calorie need for a women having singleton pregnancy is

Teh 31 THTEAT § HigeAT shl 3ATa9deh JTfdied il

(A) 200 (B) 300 (C) 500 (D) 1000
Which statement is right about Cephalhematoma ?

(A) Can cross suture line

(B) Always present at birth

(C) Ocecur due to improper venous drainage
(D) Can’t cross suture line

% S H I AR T B 7
(A) Hia= @1 ! I Tehell 2 | (B) SH 9T gHIM Iufed &l 2 |
(C) 3 W 37998 S HRU BT & | (D) Hie W@ ol IR &l o Hehell 7 |

Absence of breathing is known as

(A) Dyspnea (B) Apnea (C) Cyanosis (D) Collapse
TG hi Eh??ﬂ?ﬁ%
(A) TETER (B) Y (C) aTEdn (D) foura
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57. The definition of health by WHO include all aspects, except :
(A) Physical (B) Mental (C) Reproductive(D) Social
WHO g e <hl aiedmsn |+t w1fiet 2, fam
(A) wTfes (B) WM (C) SSHh (D) |
58. Normal duration of involution of uterus is
(A) 6 months (B) 6 weeks (C) 2 months (D) 3 months
ISR o JT=Adetd i AT 3afy 3
(A) 678 (B) o69HRE (C) 24 (D) 348
59. Difference between oral and axillary temperature is
@ 3R eI o 9 § 3R 7
(A) 0.6°C B) 1°C (C) 1.5°C (D) 0.1°C
60. Initial sign of respiratory distress is
(A) Cyanosis (B) Grunting sound
©) Tachypnea (D) Nasal flaring
TG S 1 TR ferg B
(A) FaTm (B) LU i 3TTETS
(C) waEfarse (D) =& Tl
61. A nurse is assessing a newborn during eye examination. Which assessment
finding is abnormal about normal pupil ?
(A) Equal pupil (B) Inround shape
(C) Reactive to light (D) Non-reactive to light
3@l o THI0T o SRIF Ueh T8 Ueh AdSiTd bl THETUT X TEl 8 | AR Yaferi o
forser =i @1 i s R 7
(A) §HH (B) TR
(OREE R IR RN (D) RIS o Tfd Stfsramsfial
62. Which assessment finding is not related to a preterm new born ?
(A) Soft ear lobe (B) Vernix caseosa cover whole body
(C) Long nail (D) Low birth weight
ﬁﬁﬁaﬁmﬁwﬁﬁ ~ZH FaSITd & Hetyd e g ?
(A) %W@vg (B) GOl YK W YUI-Tg 1 &
(®) (D) 4 % Tud f R
63. Exchange of gases take place in which part of the body ?
(A) Heart (B) Lungs (C) Liver (D) Stomach
TR % fepe o & frgil b1 fafome grar @ 2
(A) & (B) B% (C) =% (D) W&
64. What is the first assessment of the new born ?
(A) Suction (B) Initiation of respiration
(C) Apgar score (D) Physical examination
T T 9H e @ g 7
(A) TRH (B) T@EAHI IR (C) ITR @R (D) i udeqor
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65.

66.

67.

68.

69.

70.

71.

72.

Another name of knee chest position is

(A) Genu dorsal (B) Genu pectoral

(C) Lithotomy (D) Sims

Fow Rl gEuTm R ?

(A) TEEa  (B) T URRA (C) e (D) T

Pentavalent vaccine protect against

(A) DPT, Measles, Rubella (B) DPT, Polio, Hepatitis B
(C) DPT, Polio, Hepatitis A (D) DPT, Hib, Hepatitis B
YeTdeie Eieht feher® e M hidl g ?

(A) AR, TE, T (B) €, wifern, faderzda B
(C) grdidy, wiferan, federsda A (D) S, foe, federsda B
FSH is secreted by

(A) Ovary (B) Hypothalamus

(C) Ant. pituitary (D) Post. pituitary

FSH 1 &9 81 §

(A) JERE G (B) 34:¥=ash g (C) 3 fuggedl (D) wwd fueged
How many calorie is there in 1 gram of fat ?

(A) 5 calorie (B) 7 calorie (C) 4 calorie (D) 9 calorie

| o = 3 feraft Shetr B B 2

(A) 5 hard (B) 7 et (C) 4 Fetd (D) 9 et

Which nutrient help in tissue repair ?

(A) Fat (B) Protein (C) Carbohydrate(D) Vitamins
I T UT¥eh—<d 35h ol 3Ih i H TETIAT LAl & ?

(A) =& (B) Wi\ (C) eresged@ (D) fererti
Infective type of food poisoning is caused by

(A) Salmonella (B) Staphylococcus

(C) Clostridium (D) E.coli

TshTH TehT <h! e W17 (iei — fermerrar) fopereh grn arelt & 7

(A) HTHNeAT (B) WHRICAhITHH

(C) Femifeam (D) 3. e

How many drops in a standard drip set makes one ml ?
Teh b S19 B¢ T fehd S fieiel Ueh m/ ST @ ?
(A) 20 (B) 15 (©) 16 (D) 10

Which of the following mineral should be taken by a child suffering from rickets ?

(A) Potassium (B) Calcium (C) Sodium (D) Iron

et (flacpe) @ difed weh = o1 fferRaa o @ o o1 @i e -a<a o =nfe ¢

(A) i (B) hfcomm (C) @ifezm (D) 3TRRA
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73.

74.

75.

76.

77.

The most common cause of blindness in India is

(A) Cataract (B) Trachoma

(C) Refractive errors (D) Vitamin deficiency

IRA § Y T TIHHTT HRIT 2 ’

(A) Wifmnfsg  (B) W (C) 31qadss Afeat (D) fererfem it weft

Frozen DPT vaccine should be
(A) Shaken thoroughly before use (B) Allowed to melt before use

(C) Discarded (D) Brought to room temperature to use
IS SIdTel Eeht

(A) 39N ¥ U 3ieh Y feetn =fau |

(B) WA & g e ¢ =i |

(C) b <1 =TfRT |

(D) 39N % feTT &H qTIHH deh AT =11 |

The breast milk which secreted after two weeks of delivery is known as
(A) Colostrums (B) Transitional milk
(C) Mature milk (D) Hind milk

T % < T8 §1¢ Afad 8 aTel ¥ g7 i 1 had & ?

(A) FERZE  (B) giAagE (C) W gE (D) fos e
First deciduous teeth appear in infant at the age of

(A) 6 months (B) 6 years (C) 8 months (D) 12 months

S9 % qrd 39 irrgm
(A) 678 (B) 6 (C) 8 HTE (D) 124@
The baby gain his weight within one year of age
(A) 2 times of birth weight (B) 3 times of birth weight
(C) 4 times of birth weight (D) 5 times of birth weight

T Teh 94 U 34T g5 S¢TdT &
(A) S o T9 I 1 ¢ AT (B) =9 % THA & Fs1 I H AT
(C) STHH AR S ITH B AN AT (D) I+H o THF o i 1 qid AT

78. The head circumference and chest circumference become equal in infant at
the age of
(A) 1 year (B) 2 years (C) 3 years (D) 4 years
i ferer 31Ty o T B aitf 3 e it afthy weE g ST 2
(A) 19 (B) 2ad (C) 399 (D) 4
79. Following are the method of induction of labour, except :
(A) Methargin (B) Oxytocin
(C) Artificial rupture of membrane (D) Prostaglandin
frefaRaa wwa sror & fafver &, faam
(A) T (B) 3tifaeger=
(C) Tereett w1 b faex (D) WRTASH
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80.

81.

82.

83.

84.

85.

86.

87.

Human milk is rich in all, except :

(A) Fat (B) Protein (C) TIron (D) Carbohydrate
HHE G § S 913§ 98 BT 8, e
(A) F&1 (B) W”N (C) IR—A (D) HETERgH

Babita LMP begin 28" March 2017. Her EDD should be which of the following ?
ATl LMP 28 A, 2017 I IRU BT & | 38eh EDD fr=fciRaa o @ s gt =mfe, ?
(A) 4/12/2017 (B) 4/1/2018 (C) 5/12/2017 (D) 5/1/2018

The inner most layer of the heart is

(A) Endometrium (B) Pericardium
(C) Myocardium (D) Endocardium
e <l HaH e W HH H 7 ?

(A) M (B) TeElm (C) ueeElad (D) USehEEd

Over the counter pregnancy test is considered as
(A) Possible sign of pregnancy (B) Presumptive sign of pregnancy

(C) Probable sign of pregnancy (D) Positive sign of pregnancy
fcreRet TR < W adeTer JHT ST &

(A) e 1 gufed faga (B) Tufae &1 yehfeud fagd
(C) TTvTereer o WTRreh Forgd (D) THTEET ST FhHRIHS e

During pregnancy deficiency of which of the following leads to neural tube defect ?
(A) Folicacid (B) Iron (C) Calcium (D) Zinc

THTEET o SR FETRad | fehereh! sl o 0T dfrehl Foit § (e Bt & 7

(A) ®ifcTh TfE (B) 3RA (C) *fcwmm (D) Fmp

During which stage of labor placenta is expelled ?

(A) Stage 1 (B) Stage 2 (C) Stage3 (D) Stage 4

STATEA o1 ehTd JHfd o fohd T H AT § ?

(A) =T 1 (B) =2 (C) =3 (D) =4
Which of the following condition is screened by pap smear ?

(A) Ovarian ca (B) Endometrial ca

(C) Cervical ca (D) Breast ca

U AU gRT eteriad O 9§ ohiv &t fefa <kl s gt & 2
(A) AT ca (B) TWEHITA ca (C) Afddheica (D) < ca

Fertilization occur in

(A) Fallopian tube (B) Ovary (C) Uterus (D) Vagina
[EAEERILIE . .
(A) et Fferest & (B) 3USRAY
(C) iz H (D) AMH
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88. What is the expected weight gain by antenatal mother during the first 20 weeks ?
TUH 20 FTE % SR TEAYS AT 3 o1 H TR R 15 8
(A) 05-1kg (B) 2-3kg (C) 3—4kg (D) 4-5kg
89. What do you mean by fetal macrosomia ?
(A) Birth weight < 1.5 kg (B) Large size head
(C) Fetal distress (D) Birth weight > 4.5 kg
YT HEThIIAT § 1 ATead & 7
(A) SIS AT ISH 1.5kgHHA  (B) &3 3R o1 R
(C) yofta e (D) I % 9T a5 4.5 kg ¥ ST
90. Which abdominal grip is used to assess the descend of the head in a pregnant
woman ?
(A) Fundal grip (B) Lateral grip (C) Pelvic 1 grip (D) Pelvic 2 grip
e} afger ® for # stemfa o femor 3 faw S it 3eta i yge g g ?
(A) ®e@ M (B) W@ d™  (C) ufessk 1H9 (D) dfess 2 1
91. First movement of the baby felt by the mother is known as
(A) Lightning (B) Quickening (C) Battledore (D) Engagement
HTAT gIRT f379] 3h1 71fd o TUH 37HE I HEd @
(A) rgefm (B) forrehfm (C) westEr (D) TivH=
92. Why does bed rest is essential in pre-eclampsia ?
(A) To prevent eclampsia
(B) To mobilize tissue fluid circulation
(C) Prevent premature labor
(D) Improve blood circulation and decrease edema
IS SHaTET | o & R AEIH § 7
(A) THITET Teh o foTT |
(B) 31 g9 T i Tiasiic W& o foTe |
(C) STaide™ S T o o |
(D) T TR S@H 3T ol H i o 1T |
93. Which is the hazard of induction of labor with Pitocin ?
(A) Elevation of blood pressure (B) Infection
(C) Rupture of uterus (D) Early rupture of membrane
fere & wgfd SR 1 o Afag 7 7
(A) @AM Hgg (B) HshHTl
(C) Tt fere (D) TRt bt g feret
94. Which is the common and ideal female pelvis ?
(A) Android (B) Gynacoid (C) Platypelloid (D) Anthropoid
i Hl FTH HI FATeEl Afeer A 2
(A) TgIss (B) MERES  (C) WHeAES (D) THTES
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9s.

96.

97.

98.

99.

100.

101.

Which harmone is helpful in growth of ovarian follicles ?

(A) FSH (B) LH (C) Estrogen (D) Progesterone
JTUSTIRIT geeh <kl gl W i €1 SRAM TRl hidl & ?

(A) FSH (B) LH (C) TEISH (D) TSR
What is the reason of golden color of amniotic fluid ?

(A) Rh incompatibility (B) Fetal distress

(C) Post maturity (D) Pre maturity

TSI oSS o T T hl RV RTE ?
(A) Rh3@mid (B) yidE (C) wva uieadl (D) Yd qiddedl

Which among the following vessels contain higher oxygen concentration in
fetal circulation ?

(A) Umbilical vein (B) Pulmonary artery

(C) Ductus venosus (D) Ductus arteriosus

frefaRad # & s € anfeen yofta 9iE=to § 3= SiadisH Fhs0 W@l § 7

(A) I B (B) oA g6+l (C) SHREHME (D) Sded Aeaed

What is the commonest cause of PPH ?

(A) Atonicity of uterus (B) Subinvolusion
(C) Birth injury (D) Purperial sepsis
PPH 1 Y@= R FT 7 ?

(A) TR 6T 3raTieRd (B) AT

(C) I = |0y &fd (D) wuferer afed
Primary health care is essential care that it is

(A) Accessible and affordable (B) Affordable and acceptable
(C) Acceptable (D) All of these
TTTHeh T CEITA 3ATAYIh @I © il {h &

(A) To¥T 3R TE (B) d& 3R wird
(C) e (D) A |t
Community health care is focused on

(A) Poor people (B) Sick people

(C) Mother and children (D) Total community
HCTTeh e GETA higd Bl

(A) T &AW (B) SR &N W

(C) HTaT AR F=Al W (D) FHT TS W

Disease spread by insect is
(A) Measles (B) Malaria (C) Cholera (D) Whooping cough
<hIe R thetd aTett UT 2

(A) ©EU (B) wAt@n (C) &= (D) ot Wit
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102. IMR includes the death of child upto the age of
(A) Onemonth (B) 15months (C) 12 months (D) 6 months
IMR ¥ fohg 311 T o Sl shi Hog TS & ?

(A) T HE (B) 15418 (C) 124m@ (D) 64rE
103. Principle of primary health care except one is

(A) Equitable distribution (B) Community involvement

(C) Multisectoral approach (D) Health education of people

e TTEE CEWTe o frgd & e

(A) =TIETa foawon (B) HHG™ i AW

(C) wgerta It (D) S ey fre

104. Disease spread over large area of the world is called
(A) Epidemic  (B) Endemic (C) Pandemic (D) Infection
forgel o forsTet &= W et aTel U bl hed & ‘
(A) Tuelie  (B) Uwsfie (C) ueShrh (D) TR
105. Organic materials are dumped into the trenches, this method is called
(A) Composting (B) Incineration (C) Controlled (D) All of these
SHTel ek AT bl 715 H ST <! 39 Tafer o1 shad @
(A) FHETM  (B) FEHAEHE  (C) Hles (D) g @t
106. Milk is a commonest source of
(A) Iron (B) Thiamine (C) Calcium (D) Sulphur
9 F1{erh AT 61 8
(A) IFE®H (B) Rwdimswm (C) dfeamm s (D) Fow H

107. Fat soluble vitamin except one is vitamin
aoft g1 gersiiat foerfiq g, fem
(A) B B) A (€ D D) K
108. Animal source of fat is
(A) Cheese (B) Olive oil (C) Cornoil (D) Coconut oil
1 %1 IO7Td |1 &
A) Fo= (B) 3ffeta 3ifaet (C) &M ™A (D) TR de

109. Which one of the following contain human excreta ?
(A) Sullage (B) Sewage (C) Garbage (D) Refuse
faeferfiga o & ferem wer Jrafime BT g 7

(A) gt (B) #etool (C) e (D) Twgs

110. You have a syrup of penicillin of 250 mg/5 ml. How many milligram of
penicillin are in 20 ml of syrup ?

3ok 99 250 mg/5 m/ T UM S 8 | 20 m/ ¥4 | yfHfafer St 7w
feraa farferomm gnft 2
(A) 750 (B) 1000 (C) 1250 (D) 2000
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111. What size of single dose of amoxicillin would be needed for a child weighing
27 kg when they are prescribed 40 mg/ kg/ day in 4 doses/ day ?
(A) 250 mg/dose (B) 260 mg/dose (C) 270 mg/dose (D) 275 mg/dose
27 kg wﬁsmaﬁwwﬁ@ﬁ\mﬁ?ﬁ feha1 AT 394 @ S 3=
40 mg/kg/feem & 4 gues/fea faif@a g 7
(A) 250 mg/gUeh (B) 260 mg/gUsh (C) 270 mg/Gush (D) 275 mg/GU

112. Hookworm commonly penetrate into the body by penetrating the skin of

(A) Hand (B) Foot (C) Ear (D) Head
AR ol o o 9 g gohad IR i AfYd R ® |
(A) &Y (B) | (C) & (D) fr
113. The term morbidity rate means
(A) Disability (B) Disease (C) Death (D) New birth
IO €T H T AT 2 ?
(A) FA&H (B) st (C) 9% (D) TS
114. Dose of BCG vaccine at birth is
ST % T BCG o Eioh 6l GU &
(A) 0.5ml (B) 0.1 ml (C) 0.05ml (D) 0.01 ml
115. Which committee is known as health survey and planning committee ?
(A) Bhore committee (B) Mudaliar committee
(C) Kartar singh committee (D) Jungal wala committee
1A T FHTd T egT 3R ISE1 Gifd wEardi & ?
(A) W @fufa (B) Hgferam wfufe
(C) =htar f&g |fdfa (D) SfTetaTer aftfa
116. Which of the following is the highest diameter of the female pelvis ?
(A) AP (B) Lateral (C) Oblique (D) All are equal
freferiea & @ & @1 & oo 61 TEis w7
(A) AP (B) ety (C) T (D) TfiTAH R |

117. Percentage of oxygen in air is
gall B SATaRiISr 1 7 8

(A) 0.94% (B) 0.03% (C) 20.93% (D) 78.1%
118. Which of the following day falls on 31% May ?
(A) World population day (B) World health day
(C) World forest day (D) Anti-tobacco day
31 WS i i 1 e wHmEn Sman g 7
(A) Tava S feam (B) ferzar Tameey feaw
(C) Towa o feam (D) T el 8 (e fuy feaw)
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119.

120.

121.

122.

123.

124.

125.

126.

Indian red cross society was established in

sfea { s TIETrdt shl Tt 39 9 &8 ¢
(A) 1920 (B) 1910 (C) 1820 (D) 1720
Approximate weight of the placenta at term is

(A) 1/4 of the weight of the baby  (B) 1/6 of the weight of the baby
(C) 1/7 of the weight of the baby (D) 1/3 of the weight of the baby

e fafy T SOgATe 1 IR ST g |

(A) T3rs1 o6 AR T 1/4 (B) TrgIh YR =1 1/6

(C) Trs1oh 9T 1/7 (D) T3rgpeh YR =1 1/3
Varanasi was the capital of

(A) Vatsa (B) Kashi (C) Avanti (D) Anga
roTE fopeeh! et off 7

(A) 94 (B) it (C) rEdl (D) 3
‘Pudagala’ in Jainism meant

(A) matter (B) virtue (C) soul (D) space
SH 99§ ‘JerTe’ 9 ared B

(A) 5F (B) 7w (C) 3ATcH (D) 3AgmET
Who was the first Mauryan king to abdicate his throne ?

(A) Bindusara (B) Ajatashatru

(C) Chandragupta Maurya (D) Ashoka

T HR TSI ShiF A1 91 o 379 fegres o1 o foa 2

(A) frgam (B) awg (C) WRMAE (D) I
Who founded the first of the so-called seven cities of medieval India ?
(A) Qutubuddin Aibak (B) Balban

(C) Nasiruddin (D) Mahmud of Ghazni

HEAHTC WA <h AATHIAT A T H H T <h TATIT fohe i off ?
(A) FIIEH Uk (B) werad (C) A (D) WG o
Which battle sealed the fate of Aurangzeb in the war of succession ?

(A) Dharmat (B) Bahadurpur (C) Khwajah (D) Samugarh
IAUTIRR 6l fohg et 7 3T <hi foherd ol gat amg oft ?

(A) gt (B) w&IGIX (C) @ (D) &qTe
Swami Vivekananda participated in the World Religions Conference held in 1893 at

(A) New York (B) Washington (C) Chicago (D) Massachusetts
Tt fqaehe 4 1893 H whal W TRt fove o oo § few form o 2

(A) =k (B) diRmed (C) Rrewrm (D) HT=gHH
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127. What became the symbol of freedom ?
(A) Khadi (B) Hindi language
(C) National schools and colleges (D) Giving up jobs in the government
<hI9 TT TAAT ST JciTeh & 7T AT 7
(A) Tl (B) fewdt v
(C) TS foemer SR mgifdamer (D) TEhRY b il ol et

128. The revolutionary association ‘Abhinav Bharat’ was set up in
(A) Maharashtra (B) Orissa (C) Bengal (D) Uttar Pradesh
Shifcreh ] TS e A’ shl TToT g8 oft
(A) HEWeH  (B) 3@y (C) & o (D) ITIY |
129. A sudden adjustment of rocks at depth results in
(A) Isostasy (B) Earthquakes (C) Volcanoes (D) None of these
=SHI o AAHh GHH a1 3

(A) TFEAfaehat § (B) o4 | (C) SSaHEd (D) 398 8 I Tl

130. The tropical cyclones move under the influence of

(A) Westerlies (B) Trade winds
(C) Monsoon winds (D) Polar winds
IS0 SshaTd fehEreh T9Td & TeTd 8 ?
(A) IEIATSH (TGS TaH1) (B) AT el
(C) a9t oMl (D) e wemi
131. Which of the following is a cold water current ?
(A) Canary current (B) Caribbean current
(C) Guinea current (D) Kuro siwo current

frefafad # € M € T 38 9T 1 9/ (i) 8 7
(A) e (B) Rfemsie (C) M= (D) U et +ic

132. The vegetation that survives on aerial roots is

(A) Mangroves (B) Selvas (C) Taiga (D) Catinga
ST STel W Sfifad s=eafd 2
(A) "= (B) Head (C) &m (D) <R
133. ‘Nuba’ tribe is found in
(A) Brazil (B) Belgium (C) Sudan (D) New Zealand

TAT AT UTE AT &
(A) TRt & (B) dfesmd  (C) geHH (D) =Efcivg |

134. Shifting cultivation leads to

(A) deforestation (B) soil erosion
(C) environmental degradation (D) All of these
T F1 3 2 2
UNBEERIETU (B) ¥fH 3o
(C) watawefiy faefiertor (D) ug &l
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135.

136.

137.

138.

139.

140.

141.

142.

Sugar mills are based on

(A) raw material (B) power (C) labour (D)
<t 6 fired amenfia B

(A) =l gMd W(B) Hiek W (C) THW (D)
Trans-Siberian railway connects St. Peterburg to

(A) Vladlvostok (B) Vancouver (C) Halifax (D)
TE -GS {o1d Siedl & Ge fuetant i

(A) WEREIHH(B) S%H3RE  (C) wamd (D)

Which country is known as the sugar bowl of the world ?

(A) USA (B) China (C) India (D)
I Y < ! fI9a o1 TR o1 HaT hEd @ 7
(A) ITHT (B) =™ (C) wra (D)

Which of the following states has very little alluvial soil ?
(A) Madhya Pradesh (B) Punjab

(C) Bihar (D) Tamil Nadu
faffead e e a TS sga s Sele gaT & 7

(A) T (B) W™ (C) fom (D)
‘Kaladan’ is an important river of

(A) Mizoram (B) Meghalaya (C) Manipur (D)
‘Sl Teh HeqUl el &

(A) i\l (B) mEE@® (C) AOTR (D)
Which of the following is also called white coal ?

(A) Petroleum (B) Natural gas

(C) Hydro electricity (D) Uranium
frforRaa o @ fore wthg e Wi HEd & 7

(A) Fgferm (B) FpfakTE (C) Sefagd (D)
The unit of power is

(A) joule (B) erg (C) watt (D)
Tt <hl $hTS @

(A) (B) 3w (C) @i (D)

Sound waves are

(A) Longitudinal waves (B) Transverse waves

(C) Electromagnetic waves (D) None of these

e a0 &

(A) 3rgeed o (B) ey ol

(C) foagssha a (D) T A IS &
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143. A lens has

(A) only one focus (B) two foci

(C) no fixed focus (D) None of these
T i | . ’ '
(A) e ThH HhZ BT S | (B) R HhgRIA2 |

(C) ®EFRaaEE i hg TR ada | (D) 4 4 s T8l
144. Vitamin E is also known as

(A) Tocopherol (B) Ascorbic acid (C) Riboflavin (D) Thiamine

fererfor E =1 @8 +ft heat 2

(A) TR (B) ThEie URE (C) fewid® (D) emed|
145. Production of gobar gas involves

(A) Fermentation(B) Oxidation (C) Reduction (D) Hydrolysis

% Icdre o wifret 3

(A) Teruam (B) 3faiem  (C) Iq=Id (D) STt e

146. Bleaching powder is

(A) Calcium oxychloride (B) Calcium hydroxide
C) C%c%ium carbonate (D) Calcium chloride
(A) Hfcqem Ffeuedvss (B) HfcHam gggadmss
(C) hiceam HEe (D) hfcHa FTANEE
147. A bill may be introduced in which House of Parliament ?
(A) Lok Sabha (B) Rajya Sabha

(C) Either house of Parliament (D) None of these
GHE o fohdl Ted | foeeeh TRqa gt g ?

(A) TrHgHT . (B) TSI @

(C) Tughhs i ggT d (D) 8 9 His &l
148. Who is the final authority to interpret the Constitution ?

(A) The President (B) The Parliament

(C) The Lok Sabha (D) The Supreme Court

T ol AT <6l HqH T 2 ?

(A) Tsgufd (B) H&g (C) SrhaT (D) T AR
149. The legal advisor to the state government is known as

(A) Advocate General (B) Attorney General

(C) Solicitor General (D) State Public Prosecutor

% FLHI T DI HATGDR &

(A) UETaer (B) WeHT SR

(C) Hiferdier e (D) T b IR

150. A financial emergency can be declared by applying under which article of the
Indian Constitution ?

YR HITET b foh 3T2e¢ o1 TR Shieh TRl STTUTAhIST BN fohall ST TehaT @ 7
(A) 352 (B) 356 (C) 360 (D) 368
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151.

152.

153.

154.

155.

156.

157.

District Primary Education Programme was initiated in the year
e smerfires e swrishn fohe a 31& gar ?

(A) 1991 (B) 1994 (C) 1996 (D) 1999
Devaluation of rupee was last time made in the year

TR T STIHEIA SR o fohd Iy gam o ?

(A) 1991 (B) 1993 (C) 1997 (D) 2001
When was the NABARD formed ?

ATETE <h! TATHHT e g8 off ?

(A) 1980 (B) 1982 (C) 1985 (D) 1988

The tax on import and export is known as

(A) Incometax (B) Tradetax (C) Customtax (D) None of these
3T 3R faTd o X Shgamdn & ’

(A) I (B) MR  (C) HWI3yesh (D) 0 U HIS &

Pointing to a man on the stage, Rita said, “He is the brother of the daughter
of the wife of my husband.” How is the man related to Rita ?

(A) Son (B) Husband (C) Cousin (D) Nephew

TS T WG Ueh Aok <l ST Htd B {3 g1 “ag H ufd bl ueht bl goft =61 W18
e ErEa Rk D K E R i

(A) T B) f (©) == (D) e

In a certain code, ‘SOBER’ is written as RNADQ. How ‘LOTUS’ can be
written in that code ?

e (v s T ‘SOBER’ ®1 ‘RNADQ’ fer@r man g | 38t g & ‘LOTUS’ i
o ot s 7
(A) KNSTR  (B) MPUWT (C) KMSTR (D) LMRST

Which unique app has recently been launched by the Election Commission of
India for people to report model code violations ?

BT & | A o foru Atget dfegan s < fdid s o fore e smam g e &
fafrse T AR R B2 ?

(A) cVigil (B) pVigil (C) eVigil (D) mVigil
158. The world’s first all-digital art museum has recently opened in which country ?

(A) Germany  (B) Japan (C) Italy (D) India

BT &1 H fohd <1 o forwa =1 wom |qut fefeet o1 =ifom @ien i 7

(A) S (B) SIH (C) seeit (D) ¥Rd
159. Who is the newly elected President of Egypt ?

(A) Sami Anan (B) Shadi Ghazali Harb

(C) Sherif Ismail (D) Abdel Fattah al-sisi

ehi-l SIoTed Shl e rad Useald 8 ?

(A) gt 3 (B) Il TSIt &6

(C) ¥ 3@ (D) 3Foced efg 7ot -t
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Which country hosted the 11% edition of Geo Intelligence Asia 2018 ?

(A) Nepal (B) Vietnam (C) Malaysia (D) India

o a1 < feT seetiorm wfirm 2018 119 ufeym w1 weem & 7

(A) =urd (B) Taaaam (C) wAfmEn (D) ¥ra

The state bird of H.P. is

(A) Pigeon (B) Jajurana (C) Nightingale (D) Swan
1 T veft

(A) eI (B) SIS (C) g (D) =&

Who was the first lady surgeon from H.P. ?

(A) Rajendra Mahajan (B) Vandana Sharma

(C) Seema Panwar (D) Kavita Thakur

feHTaet Sew <1 g Afge @ i ot ? ’

(A) TG HERH (B) deiymi  (C) HWdar (D) hierdl 319

‘Spiti’ literally means

(A) Land of Gods (B) Land of Jewels

(C) Land of Mountains (D) None of these

> o o A

(A) ool (B) I .

(C) el b1 (D) & %S e
Vishwakarma temple is located in

(A) Paonta Sahib (B) Nahan (C) Bilaspur (D) Nerti
foreerepmt wifex fora 2

(A) U AifEs H (B) ATEAH (C) foemaqR# (D) =
Antonym of the word ‘Nascent’ is
(A) budding (B) mature (C) elderly (D) initial

Meaning of the idiom ‘Harp on the same string’ is
(A) to play music

(B) to dwell tediously on the same subject

(C) to beat someone

(D) to acknowledge

What is the for judging whether it is good or bad ?
(A) criterion (B) criteria (C) evidence (D) reason
TG I 8
(A) St (B) 3t (C) = (D) 3fd
SIfhEH | 918 &
(A) s (B) g (G- (D) wgsife
EUECARDIDEI Gl
(A) = (B) 3 (C) ™= (D) T
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